1. At a point a structure, there are two

mutually perpendicular tensile stresses
of 800 kg/cm? and 400 kg/cm? . If the
poisson’s ratio is pu = 0.25 what would be
the equivalent stress in simple tension
according to maximum principal strain
theory

a. 1200 kg /cm?e

b. 1200 kg /cm?e

c. 1200kg/cm?e

d. 1200 kg /cm?e

. According to maximum shear stress
failure criterion, yielding in material
occurs when

a. Maximum shear stress = 1 / 2 x yield stress
b. Maximum shear stress = V2 x yield stress

¢. Maximum shear stress = V2 /3 xyield stress
d. Maximum shear stress = 2 x yield stress

. Arectangular block of size 200 mm
X 100 mm x 50mm is subjected a
shear stress of 500 kg/cm? . If the
modulus of rigidity of the material
is 1 x 10% kg / cm? the strain
energy stored will be

1000 kg cm
500 kg cm
125 kg cm
10 kg cm
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. A shaft is subjected to a bending
moment M and a torque T. the
equivalent bending moment ‘M,

. on the shaft is given by
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. A certain steel has proportionality limit
3000 kg / ¢cm? in simple tensiol
subjected to principal stresses of 1
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13. At a point in a steel member, the major
principal stress is 200 Mpa (tensile) and
the minor principal stress is compressive.
If the uniaxial tensile tensile yield stress
is 250 Mpa, then according to the
maximum shear stress theory, the

magnitude of the minor principal stress

which yielding will

7. A section of a solid circular shaft
with diameter D is subjected to
bending moment M and torque T.
the expression for maximum
principal stress at the section is
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16. A shaft of diameter ‘d’ is
subjected to bending
moment ‘M’ and twisting
moment ‘T’ . The developed
principal stress will be

A. +1LM?+T?

B. LMxyM*+T?)
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. A cube is subjected to equal
tensile stress on all the three
faces. If the yield stress of the
material o, then based on the
strain energy theory, the
maximum tensile stress will be
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